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 �W �� �I �� �6�� �(�&' �o�- ���&' �5 �� �6 ��I" �I �S ���.  3
 �� �6�� �(�&' �o�- ���&' �5 �� �6 Q4 �6 �� �� �7'

 ? �j�� %�&' �W �� �I
 �M�@ �:�. ?-%&' �W� <I �7' �? �1 �
  b

 ? �o�- ���&' �2 �
 �R �� �� �� �5 �� �K�&'

 �W ���I �� �6�� �(�&' �o�- ���&' �5 �� �6 ���* 'k_  l;
 �)�& �k �T �F �� �@ , =o�- �* � �[�K�. �! �7'
��� �� �( �6 �7��. �?������&' �O�� �(%-&' Q4 �6

 ? �o�- ���&' �2 �
 =5 �� �6 �+�� �*3 �:�. �W� <I �7' �#3 ?@  5
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Ç
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�  �: �F ���. �� �E�E %A&' �� �.�; �v' �+�- �P�' 4
: �p���� �� �@ �+ �K �
 Q4 �6 �� �� �6���� 5 = 2 + 3 ��%� �̂ �^ �7' �: ��( �>�&' �� �X�X ��  3

200 + 300 200 + 30 20 + 300

 = 152 + 249 b

301 391 401

98 =  + 25 l;

123 73 37

: �p���<�&' �5�>I �v ���� �( ��%-&' �� �5�6_ Q&_ ���- �E�I ?4 �I � <( �
 f#3  5

13 - 78 27 - 41 25 - 47

#����I 581 ,231 �2 �I �5 �� �K�&' �2�� �. �| �+ ���&' l1
350 530 812
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�P � �̀ 1�� �U�=I = �J>� 2&

 ��� ����w+ �̀ < �F�&� ,3!� ����+ 5 �& 4 3+ N����w+
 4�I6� �1 :
��� mF Z={�� N�=!O�L ���A��� �O��.
 ����� ,*>L=+ N��P �!����� ���J��� &=U� 2& ; ����+ 3+
 �;0 ������ mF 
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���� _d�� �+ ��>�� 2& 3!� �������

 _d�� �+ 
�
1L ;fG+ 4�I�� ,����F m���$� �2& ��� 
hO�
 ,��
�P 0 = 0 × 3 mF �0/��� :�
�$� 3+ �̀ < 
�����

 =>8 :
��� mF Z={�� N�=!O�L ���A��� ;fG+ 4�I6�
��O��1�� ���� ^�
]���P

�m���� ,N����w+ :U
��	
 6�@
 :
��� mF� 1 :
��� mF Z={�� :�� �����	
 �
<
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�=>8
�N�� C��+ ,�O��. ��� :U
��	
 -. �� �58���	
 %=
��	


 ���� ^�
]��� ��� 3!� ������� 
 ����
 N� �=��� :
� 2�< ��f+ 
��& ��� 
 h<& ��O��1��

 zL�G�� �UO� � \=>8 :
��� �f!F *�w� m���
�� \=>8

-?!L �����
 mF ���
�� m��� Z={�� zL��GP 2��������� 3!��J�

 3� �P���� ,�O��. ���� ^�
]���P �; ������� U���
�3!.�=M��� 3!���J��

,1 × 67 zL�� ��
w� 2& 3!� ������� �����
 `!��L ;f��A+�P 2�< ��( �+� 0 × 0 zL���

�;�=��P c��

M� �� �* �Q �� ���	
 �/ �� �� ��	
� 1 �Q �� ���	
 �/ �� �� ��	

Multiplying by 1 and by 0

�d �- ��	

5-3

�� �F �� �4M� ��
� �Q �� ����	
 �/ �� �� ��	
  
 $'3��[�	
 �l �- �� �0 �! 
 ,-
� �_� �� �+�I
/ �=�) �8�4

�-
� �_ �N
 �Q �� �5 �� �1 , MV
PL 6B �1 �/ ,� �� ��
� ,� �� �� �_ �� �+�I
/ �= ���4
? MI
�� � �/

$ M-
� �_� 3 �-
� �_ �N
 �Q �� �5 3 = 1 × 3 =  1  +  1  +  1
 $ MF �+�P �0 �5 �� �J�&
 ���g , ���7 �Z
J�	
 ���	�
 �O �� �.�( �Z�


9  = 9 × 1  7  = 1 × 7  4  = 1 × 4
34  = 34 × 1  15  = 1 × 15  10  = 10 × 1
93  = 93 × 1  89  = 1 × 89  100  = 1 × 100

M� �� �* �Q �� ���	
 �/ �� �� ���	


� = �  × 3  =  0  +  0  +  0
$ k� �� �* �-
� �_ �N
 �Q �� �5 $ k-
� �_� �� �C�� h 

 ? MI
�� � �/ �-
� �_ �N
 �Q �� �5 �� �1

 $ MF �+�P �0 �5 �� �J�&
 ���g , ���7 �Z
J�	
 ���	�
 �O �� �.�( �Z�

0  = 0 × 10  0  = 1 × 0  0  = 0 × 2

0  = 28 × 0  0  = 0 × 39  0  = 15 × 0
0  = 67 × 0  0  = 0 × 65  0  = 70 × 0

? M� �� �* �Q �� ���	
 �/ �� �� ��	
 ?1 �Q �� ���	
 �/ �� �� ��	
 ���) �5 �'�� ��@�4 o\�	
 
!   z� �] �� �� k��7 �� �4
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X� ��* 64



 

100

$ %���M����	
 C�!�� 5�0 � %����	 � %�?� �
D*E�
t1v 3�=����
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.& 2�A� 2& ��� Z=} N���O� 3 2��������� 4�A�

��fG+ �̀ < mF 1 :
��� �� 3!�+����
 �P��A� `�>�� �+
U+ ��( 3!� ������� ¤�P 6i:6�

�����OJ�� ��� ;fL���O�

t5v 3�=����
 mF 9 ��( 1 3+ :
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���
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� Z=} �2& ��� 3!� ������� 
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�
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��� _��J� 
.�� :
���

t6v 3�=����
 *�w�� �& Z={�� �!��� V+� 2��������� 4�A�

�4 ���G���

 `!����� ��+
]�J� 2& 3!� ������� 3+ 4�I6�
�;fL�P��( `!���� ;�=��P

t7v 3�=����
 
.& m��� Z={�� N�=!O�L =�.$�P 2��������� 2 ����

�=>8 �� �f!�+��

 N�=!O���� zL�� ��
w� 2& 3!� ������� �����
��� C����� =!�

$ �v�4
#)	
 �E�( �1�
 ? Mc �� �� 6B �1 �/ ��
+ �Z �N
 �Q �� �5 �� �1 1  �I �� �+�4

0  = 0 × 1 1  = 1 × 1 2  = 2 × 1 3  = 3 × 1
0  = 0 × 5 $ �v�4
#)	
 �E�( �1
 ���g , �� �Z ��	
�& �B6" �!  2 $v�vv4
vv )	


 ��E(EE 1
 (( �g ,�� ���Z�� �	
��& 

 B"BB !  ""

$ �v�4
#)	
 �� �C ��� 3
0  = 0 × 4 �3  = 1 × 3 �0  = 0 × 1 |C

7  = 1 × 7 Q0  = 12 × 0 |�0  = 25 × 0 �

1 �Q �� ���	
 �/ M� �� �< �;
-
7 �5 3 �E�( �1�
  4

×123456789
1123456789

 $ �B �+ �1�  5

 + ��� × �E �Z
) �+�	
 �����F �+ ���	
 �: �! �- �E�( �1�
  6
9 = 1 ×   9 �10 = 9 +  1  �1 = 1 +  0   |C

$
 ,� �� �* �v�4
#)	
 �I
1 
jL  |�& �I 6��	 7
20 × 10 × 998 × 02 × 30 × 500 × 17

:�)[+! ;
&
CL $0�+F�(+	
 ;
&
CL SF(.4

$0�+F�(+	
 ;
!�Z- SF(.4

3 = 1 × �19 = 1 × ��100 = 1 × ���

�+�� �+�� �+�� �+��
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��& ;f� |=#�� ¡1 + 5 = 6 �2$
zL�� ����w� 2& ;f!�� 3 × 1 + 3 × 5
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�d �- ��	

6-3� �Q �� ���	
 �/ �� �� ��	


Multiplying by 3

�� �F �� �4  
 MB�X �̂  �%�&
3 �! 3 K	L k�@ �* ��
( �J��

MB�X �̂  �%�7 �3 �! �� �1 $ ,� �� ��
� ,� �/
- �_ =�) �8���	
 ?
]�F�" �! M;
/
- �_ 6 �=�) �8���	 ��
( �J��

?  = 3 × 6  

$ MB�X �̂  �%�7 �3 �! 18 K	L k�@ �* ��
( �J�� ,
 ,jL  18 = 3 × 6 =3 + 3 + 3 + 3 + 3 + 3

?3 × 5 �v�4
P �p �� ���4 �i�) �1 
jL 3 × 6 �v�4
P �� �>�4 �S�� �1

3  óÈ ö ú ó ö  5  öÈ ú Ç óá ú ó  õ õ ö ú ó   úã ö ú ó ú öÇ

15 = 3 × 5
3 = 3 × 1

18 = 3 + 15   

18 = 3  ×  6

0 3 6
3 + 3 + 3 +3 + 3 + 3 +

9 12 15 18 21

18 =  3  +  3  +  3  +  3  +  3  +  3
12 9 6

1518
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 mF :c�� ��� \���+ �Z={�� zL�� ��� ���1��
 zL�� ��� `�1G� N� �=+ *P�& 3 :
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 *�w�� =!O�L ��O�A� 2& 3!� ������� 3+ 4�I6�
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]�J� �G���P ;�= h<� �;0 ,�P��)�
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3 × 1=3=3
3 × 2=3 + 3=6
3 × 3=3 + 3 + 3=9
3 × 4=3 + 3 + 3 + 3=12
3 × 5=3 + 3 + 3 + 3 + 3=15
3 × 6=3 + 3 + 3 + 3 + 3 + 3=18
3 × 7=3 + 3 + 3 + 3 + 3 + 3 + 3=21
3 × 8=3 + 3 + 3 + 3 + 3 + 3 + 3 + 3=24
3 × 9=3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3=27

  $ �B �+ �1� �y ��h
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?3 × 8 �06��7�(�	 �� �/�� �8 �+�	


w54 �� �J �� �8	
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x ? M;
���
I 3 �=�) �8�	 ��
( �J�4 �Q �� �Z� �' �P ���	 
 �- �_ �� �1  6  
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12 = 3 × 412 = 4 × 3
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]�4 �_ �� �I �(�	
 �Q�- ���	
 �Q �� �5 �� �[ �/
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? �� �� ��	
 �9 �� �� �' �/ �� �� �4 
! �� �- 6� �[�( �+�	
 �= �+ �>�	
 
 ,! �� �.�( �X �! 4 × 6 �v�4
P �� �>�4 �S�� �1
?  =  4  + 4 + 4 + 4 + 4 + 4 = 4 × 6

 4 × 1  +  4 × 5  =  
24 = 4 × 6  24  =  4  +  20  =  
$
� �� �1 �j�
 ?{ × 6 �v�4
P �Q
>�L 
]�& �=�M�( �X�4 ~� �̀ �� M� �����I �0 �! �B ��   z� �] �� �� k��7 �� �4

24 = 6 + 6 + 6 + 6 = 4 × 6 :�)[+! �&
CL 68
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 2�O�A� �;0 ,t:�U��� :
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 ����w+ �̀ < mF =8�G��� :
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�P �t
U� �̀ < mF ������ 9=H :
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O��� 
��& 2�-./� �;0 ,4 ���G��� zL�G�� 2���������

�3!L��O��� 3!P �/�H���

 9=H �̀ < :
� `���� Z={�� zL�� �2�P = h<�
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���P �P��)� 3+ 
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�4 ���G��� zL�G�� ��� ���1�� ��
w�� ~�F� 3!�� ��Q����

 ,t&v mF zL�G�� :�w�( �U�=I 3!� ������� |=#��
 ��=H$� ���+¡� ;f.=# �U�=I ��( *� ������
 Z=} _=!O�L ��M�� 2& 3!� ������� 3+ 4�I6�

�24 ��fwL�� 2�A� 3!>��]+

t3v 3�=����
 :
� 2�: �
1!F ,�.�=M��� ���J��� 2��������� &=U�
 mF =8�G��� :
�� tN����!J�� :
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 m�����P� ,t����!� �̀ A� N/w��� :
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��O ���G��� Z={�� ���O� 2�w�G�J�

� �̀ 1�� ��� �
��J��� ���8 ;�� 2�A+)�P

4 × 1=4=4
4 × 2=4 + 4=8
4 × 3=4 + 4 + 4=12
4 × 4=4 + 4 + 4 + 4=16
4 × 5=4 + 4 + 4 + 4 + 4=20
4 × 6=4 + 4 + 4 + 4 + 4 + 4=24
4 × 7=4 + 4 + 4 + 4 + 4 + 4 + 4=28
4 × 8=4 + 4 + 4 + 4 + 4 + 4 + 4 + 4=32
4 × 9=4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4=36

  $ �B �+ �1� �y ��h

$ �%� ( �&
C�L �0�! ���� �J�4

20 = 4 × 5 = 5 × 4 #I� ? �y ��@�4 
j
! $ �B �+ �1�  1   �I �� �+�4
  �  �

20  = 4  × 5 20  = 5  × 4

$ �9
" �+�	
 �/ 
+ �1 �v�4
#)	
 �� �C�(�	 �m �< �� �+�	
 �9 �� �� �>�	
 �O �� �.�( �Z�
 2
×0123456789
00000000000
10123456789
2024681012141618
30369121518212427
404812162024283236
5051015202530354045  

15  = 5 × 3 �  = 7 × 2 �
5

×5
25

 |� 9
×4

36

 Q  4
×4

16

 |C

 $ ,��7 �Z
) �! M� �� �< �� �-
7 �5 �E�( �1�
  3
? M;
-
#� �Z { |�	 �;@ �>��	
 �Q �� �5 �� �[ �/ , M;@ �> �5 { �� �� ��
��	
 �� �-
#� �XF�	 �I
1 
jL 

 M� �F �> �5  = �;@ �>���	
 �Q �� �5

?
I
M�7�	
 �;
#7 �� �Q �� �5 �� �[ �/ $ M;
 #� �! 4 |�& ���" �1� 
I
M�& �;
#7 �� �� M;
- �: �C 3 �%�� ���	   4
 
I
M�& ��#7 ��  = 
I
M�7�	
 �;
#7 �� �Q �� �5    12 = 3 × 4

  16 = 4 × 4
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 ����J�+ tEF�GH 5v N����w+ 5 ;f�
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��& 2�<�
!F
�tI�J>GH �̀ A� =L=L N��O. 6v =8�G��� :
� mF
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]��� ;f��A+�P 
��& 2�w�G�J� ,m�����P�
�=L=��� N��O1� m��A�� :
��� :�w�)

 �+� � �=A���� *�w�� ^�
]��� �U�=I 2�-./� �;0
¡6 × 6 zL�� :�w�) 5 :
��� mF Z={�� ��. 
��F=��

N� �=+ 5 
J>GP 6 :
��� *�� ��� ��
L 6 × 5 �2( �(
 �N� �=+ 6 
J>GP 6 :
��� *�� ��� ��
L 6 × 6 �
 6 × 5 zL�� ��� 6 × 1 zL�� �F�}( 
G� ,m�����P�

�6 × 6 zL�� ��� `�1�
�m���� :U
��	
 6�@

�6 :
��� mF Z={�� zL�� :�w�( :�� �����	
 �
<
?�	

�=8�G� ,N�� C��+ :U
��	
 -. �� �58���	
 %=
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 Z={�� =!O�L ��( 3!� ������� a�O��� q>���
 mF � ��$� `+���� �2& ��(� m�&=�� `A���P

 =!O�L mF m����� `+���� 
J>� �� =!O���� �d�
�mUF$� `A���P Z={��

-?!L �����

J>GP 6 :
��� *�� �� 6 × 6 �2& 2��������� ¥�
�

 ,N� �=+ 7 
J>GP 6 :
��� *�� �fF 6 × 7 � �+& �N� �=+ 6
 :�w�( ��� 
��J� 6 × 6 zL�� �2& �!< 2�w�G�J� c�dP

�6 × 7 zL��

��U�=M�� ad� 3!� ������� ;fF 3+ �
 C<�L

�d �- ��	

8-36 �Q �� ���	
 �/ �� �� ��	


Multiplying by 6

�� �F �� �4  
�Q �� �Z �N
 ���4 ��6(	
 �0 �! M;
#7 �� 6 �� ���) �! �O �� �.�( �X�4

$M� �� ��
� �V
X ���) �̀  �=�) �8�	

]���	L ��
( �J�4 �(�	
 �Q �� �Z �N
 ���4 ��6(	
 �;
#7 �� �Q �� �5 �� �1

 ? M� �F�g
+ �! ���/
) �̀  5 �=�) �8�	
?  = 6 × 5  

$ �Q �� �Z� M��4 ���4 ���7 �� �� K	L �� ���) �! ��
( �J�4 ,
 ,jL 30 = 6 × 5

. öÈ ú Ç óá ú ó  õ õ ö ú ó  óæ öÑ ó ó õ ú Ç ö ú ó ú Ç õãÇ ú ö ú Ç ó ö ú ö   ?6 × 6 �� �>�4 �S�� �1

6
×6

36

 ?  =  6  + 6 + 6 + 6 + 6 + 6 = 6 × 6
   6  × 1  +  6 × 5  =  

36  =  6  +  30  =  

30 =  6  +  6  +  6  +  6  +  6
24 18 12

30

$ �%�( �&
CL �� 6X�/ ?6 × 7 �v�4
P �Q
>�L �%�P
[ �!n�& �B �] �/ ,6 × 6 �v�4
P �i�/ �� �5 
jL  z� �] �� �� k��7 �� �4
6 
��*
)5 Q�5 ���
� �5�+>! �/
<n& ,��P

36 = 6 × 6
42 = 6 + 36 = 6 × 7 70
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 ,6 �� 3!!����+ 3!wL�� 3!P ~=>�� �2& 2��������� �./�
��O ���G��� zL��G�� 2�
w!F

����A� 2& 3!� ������� 3+ 4�I6�
 ^�
]���P … ,… ,… ,… ,18 ,12 ,6

 ;f� |=#�� ,�����<& m��� Z={�� N�=!O�L
�N��J��P _9��w��� �
��� m� :�
�$� ad� �2&

t1v 3�=����
 �;0 ,� �=A���� *�w�� ^�
]���P 6 × 6 2��������� 4�A�

�6 × 6 zL�� ��� ���1�� 6 × 3 zL�� 2�+
]�J�

 I�GO� �!A!��/O�� ��=Q$� ^ �
]����
�fG+ �̀ < mF ��>8 3 3+ 3!�F�>�+

���=Q& 6

t2v 3�=����
 :��� :�
�& 3+ :
� �̀ < Z={P 2��������� ^�U�

 ,tZv mF 2 :
��� mF� t&v mF 6 :
��� mF N/ �H
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�N�� �=]��� :��� mF zL�G�� 2�O�A��
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 h<&
 3!� ������� 3+ 4�I� �;0 ,N�� �=]���

 ���+
]��� m��� �U�=M�� ��( ��=!�� 2&
� �̀ 1�� ��( ��8���

t3v 3�=����
�fG+ �̀ < mF N�#�=F 9 `��& :
� 2��������� 
w�

 �
��� �& � �=A���� *�w�� r�=I 3� � �+( `��& 6
 :�w�) �O��G+ �=H& �U�=I _& �& N���J��P _9��w���

�Z={�� zL��

 ,(1v 3�=���� �̀ . �U�=MP 3!� ������� = h<�
 �d� mF �f+�
]��� �!��A+( ��( = �#&�

�3�=����

t4v 3�=����
 ��� � \< �=��+ \/+�� 3�=!O���� mF �2& 2��������� �./�
� �̀ 1�� ��
w!� 3�=H�� 3!�+���� 3!P 2����U� c�d� ,8

 � �=A���� *�w�� ^�
]��� �!��A+( ��( = �#&
� �̀ 1�� ��� �
��J��� 8 :
���

�y ��h$ �B �+ �1�
42 = 6 × 7 24  = 6 × 4 6 = 6 × 1

48  = 6 × 8 30 = 6 × 5 12 = 6 × 2
54  = 6 × 9 36  = 6 × 6 18 = 6 × 3

�I �� �+�4
$ �%�( �&
CL �m 6< �� ?6 × 6 �v�4
P �� �>�(�	 3 �/ �� �� ��	
 �9 �� �� �' �/ �� �� �4 
! �O
� �.�( �Z
 �%�)�[ �+ �� �B �� 1

$ �B �+ �1� 2
  �  

24
30
36
42

k;
C �� �. �!

4
5
6
7

k;@ �̀ �� �!

6 ×

  �
6
7
8
9

k;@ �̀ �� �!
12
14
16
18

k;
C �� �. �!

2 ×

 ? M;
�
��/ � �B �C �-� �Q �� �5 �� �1 , MB �C �-� 6 �� ��
� �� �F�	 3
?u × � �O� � × 6 �� �7 �1� 
+ �]D��: k�
(�)�( �Z
� kB�F ���4  4

? �� �� ��	
 �����F �+ �5 �V
� �CL �I�Q �0 �! �p �� ���4 �I� �%�)�[ �+ �� �S�� �1

w54 �� �J �� �8	
 K	L �����P�
x ? M;
���
I 6 �=�) �8�	 ��
( �J�4 
 ,��� �* M;
>�F�" �! �Q�5 �� �1 5  

 36 = 18 + 18 =  6 × 3 + 6 × 3 = 6 + 6 + 6 + 6 + 6 + 6 = 6 × 6 ,��P

ð Ñ 54 =6 × 9

.  Ê  Ï  18 = 3 × 6

8 × 6
 �71� 6� 
 ,1�(3! ,@!
5 0�4-
7�	
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.5 0!
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��J��

N (*K
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w�

 ��
�� �!< ��.=�� 2& 3!� ������� 3+ 4�I6�
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Multiplying by 7
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 �=�) �8�	 M����? �- �� M;
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8�? 7 K	L kl �-
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( �J��  

$  �2 �\]1 M� �� �� �_ �;@�( �&
?
]�F�" �! M-
� �_� 4 �=�) �8�	 ��
( �J�� ,����? �- �� ,� �*
8�? �� �1 K	L
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28 =  7  +  7  +  7  +  7
21 1428

 $ ,����? �- �� ,� �*
8�? 28 K	L kl �-
I ��
( �J�� ,
 ,jL  28 = 7 × 4
$ �� �� ��	
 �9 �� �� �' �/ �� �� �4 
! �� �- 6� �[�( �+�	
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.7 -
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P KF5 7 × 7 v4
P ��:� ,
 ,jL

72



 

116

$ %���M����	
 C�!�� 5�0 � %����	 � %�?� �
D*E�
t1v 3�=����

 Z={��  ���O�  mF  � ��$�  `+����  2���������  4�A�  ,t&v  mF
 ,~���$� :
�P `C����� m����� `+����� ,2���$� :
�P `C�����
 �̀ 1� �2���$� �̀ < ��� ~���$� :
�P `C����� Z={�� zL�� �;0
 ,t&v  �̀ 1�  ���+
]���  m���  �fJ>�  �U�=M��P  tZv 2���������
 ����w+ �̀ < mF =8�G��� :
�� N����w��� :
� 2�: �
1!F

��O ���G��� Z={�� ���O� �P��A� =8�G��� m ��A�� :
����

�3!� ������� N�P��( 3+ �
 C<�L

t2v 3�=����
 2�+
]�J� c�dP ¡5 + 2 = 7 �2& 2��������� �./�

�7 × 7 zL�� :�w�) 7 × 5� 7 × 2 zL��
t3v 3�=����

 3!�� ��( Z={�� m�+�� *Q�+ 2��������� : �
1�
�4 ���G��� Z={�� zL�� ��
w!� ,
Q�F� ��
w��

����1�� q�: �+ ��( �=H& ���+& �F�&

t4v 3�=����
 �d� ,^���& 7 
.���� i�O�$� mF 2& 2��������� ¥�
�

 ^���& :
� mF *!P��$� :
� Z={P 2�+�U� ���
�*!P��& 4 mF ^���$� :
� ��
w!� 
.���� i�O�$�

 � ��9��wL �� �
�� 2& 3!� ������� 3+ 4�I6�
�*!P��& 5 mF ^���$� :
� ��
w!�

t5v 3�=����
 3!O��Q :��� �f!F 3!Gh!O+ �!->� ���J+ 2��������� mA1�

 :
� 2�O�M�� ,N���# 7 ��fG+ �̀ < mF ���1�� 3+
�3!O��U�� mF m��A�� N������

 3+ 4�I�� ,`S�J��� ���]+ ��( *� ������
 �O ���G��� Z={�� ���O� �P��< 3!� ������� 
.&

��!->��� ���J��� �̀ 1< ����OJ�� ���

:3!� ������� 3+ 4�I6� :� �&�8� �����
 ^�!U�� 2�: 3+ ,8 × 7 ^& 7 × 6 ="8& ��f��& 
�
1L  t&v

�Z={�� �!���P
�7 × 3 � 3 × 7 zL�� :�w�( tZv

 �I �� �+�4
$ ���7 �Z
) �+�	
 �� �� ��	
 �� �-
7 �5 �E�( �1�
 1

   �  

M� �? �- �� 35 = 7 × 5  = �l
- �� �N
 �Q �� �5

  �

M9
��4 �� �& �� �� �+�g 49 = 7 × 7  = �9
��4 ���7�	
 �-
+�g �Q �� �5

7 × 7 �v�4
P �� �>�(�	 5 �/ �� 2 �/ �� �� ��	
 �9 �� �� �' �/ �� �� �4 
! �O �� �.�( �X�4 �S�� �1 �m 6< �� 2

$ �9 �� �� �>�	
 �O �� �.�( �Z�
 $ �v�4
#)	
 �� �C ��� 3
×�12�{u6���
�����������
1�12�{u6���
2�2{6�1�121{161�
���6�121u1�212{2�
{�{�12162�2{2��2�6
u�u1�1u2�2u���u{�{u
6�6121�2{���6{2{�u{
���1{212��u{2{�u66�

 21  = 3 × 7  �35  = 7 × 5  �

16  = 8 × 2  |C49  = 7 × 7  Q

6
×7

42

  |�7
×6

42

  �9
×7

63  

  _

 ? �=�&
Z� 4 �/ �O
 #� �N
 �Q �� �5 �� �1 4

  $�� �-� #8	
�& 
,)���( �X �! �� �� ��	
 �/ ,����� ���	 ,��	� �X �! �% ���
 5
. Ç  

49 = 35 + 14 = 7 × 5 + 7 × 2 = 7 + 7 + 7 + 7 + 7 + 7 + 7 = 7 × 7

28 = 7 × 4
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$%��&
 '�#�&�( )��*�� �+�M� �#��- .��/0 1��	 2��3�4��	 �	
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 �	���!�5 8 × 8 60�7 ����- ��+�$ �
8�9� ,�:��5
.8 × 2 æ 8 × 6 60�7

'1���; :U�
��� ���
'8 ����	 1& ����	 60�7 ����- :�! "#�$��� ��%�����

'�<�=� ,2	% 3
>? :U�
��� &' �� "�(�#��� �)�����

60�7 ����- ��+�$ @�A
0 )�� ������	 B
!C	
'8 × 7

&��* +�!��
 1�����5� ,2 + 2 + 2 = 6 ��� �
�������	 D�9�

.8 × 6 60�7 ����� 2	 ��? E9F 8 × 2 60�7 �
����

,8 × 4 + 8 × 2 = 8 × 6 �
�������	 G�H� �I
 J�$ 
: B	K��	 ��� "#� L�M	 NO�=�

 ,8 × 6 60�7 ����� 16 = 8 × 2 �����0
'8 × 4 60�7 �����0 J�$ P���

.8 × 2 + 8 × 2 = 8 × 4 ��� Q�- � CM��
, -�.

'RI�=�	 60�=�	 �
�������	 ���
 �S$ )�5 T�+�	 ���/0 )�� ������	 B
!C	

')������? )��0�7

�� �� ���	
10-3

�
 �� �
 ��
 �� �� �� ���� ���	 , �F������	 ������ �� �� ��	� �! �" 6 �� �#$M�� ���
�� �&  

���'���( �)��	 �*	+ �-. �* �� �- �
 �/ 0 ���'���( �)��	 �� �� �*	+ �-. 1 �2�� �� 34 �/ 56
 ? ����� 78�	 ��	� �! �" �9�� �& 56 �� �#$M�� �2�� �� �� ���� ��	 5���	

?  = 8 × 6  

48 =  8  +  8  +  8  +  8  +  8  +  8

40 32 24 16
48

0	 :*+- 48 �� �#$M�� �2�� �� �� ���� ��	 5���	 ��� �'���( �)��	 �*	+ �-. �* �� �- ,	 :;< 48 = 8 × 6  
0 �> �@ �A�	 �B �+ �! �C �6 �@ �
 �� �� �" �� D@ �E�� �)��	 �9 �) �'��	 �F	� ���� ��	 �G�H�E ��I�J  ? 8 × 8 �� �'�� �K�$ �/

?  = 8 + 8 + 8 + 8 + 8 + 8 + 8 + 8 = 8 × 88
×8

 64    
   8 × 2  +  8 × 6  =  

64  =  16  +  48   =  
? 1 × 6 �L���H �*�'� �M 16 = 8 × 2 �F �� ���� �N�� �K�$ �/ �O DP �"  Q5 �2 �# �R S@$T �
 ��

�U �!V0 �4 �) �/.
56   = 8 × 7 32   = 8 × 4 8   = 8 × 1
64   = 8 × 8 40   = 8 × 5 16 = 8 × 2

72  = 8 × 9 48  = 8 × 6 24 = 8 × 3

1 �* �� �
��	 56 �> �@ �A�	
Multiplying by 8

 8 + 8 + 8 + 8 + 8 + 8 = 8 × 6
48 = 16 + 16 + 16 = 8 × 2 + 8 × 2 + 8 × 2
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�
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��1!18 N���O�

=!O�L �P��< �GGA�� �!< :3!� ������� �����
?Z=} =!O�L ���8 mF 8 + 8 + 8

 t6v 3�=����
 cP��+ :
� mF 8 :
��� Z={P 2��������� ^�U�

 :
� ��� ���1�� �
.���� �=S�M�� mF `!J"��
�N�=S�I 8 mF `!J"�� cP��+

 3C!�+ :
� Z=} 
G� 
���P 3!� ������� = h<�
�
J>� :
��� zL�G�� 2�A� 1 :
��� mF

�I �� �+�4
  $ �B �+ �1�  1

32
40
48

k;
C �� �. �!

4
5
6

k;@ �̀ �� �!

� ×

  �
2
3
4

k;@ �̀ �� �!
8

12
16

k;
C �� �. �!

4 ×

  �

  �  ,  � �� �� �< �v�4
P �� �C ��� 2
  �  ,  � �0�� �Q �� ���	
 �� �� �<�
 3

 ? �E�1
) �5 3 |�	 ,@ �C �- �� �[ �/ , MB �C �-� 8 �;�7 �[�) �� �F�	 4

$w× �� +x �E �Z
) �+�	
 �����F �+ ���	
 �: �! �- �E�( �1�
 5
24 = 8 +  8 +  8  � 64 = 8 ×  8  �

0 = 0 ×  8  Q 8 = 8 ×  1  |C

w54 �� �J �� �8	
 K	L �����P�
x ? M;
���
I 8 �=�) �8�(�	 ��
( �J�4 MB�X �̂  �%�7 �3 �! �� �1 6  

. ð Ñ 24= 8 × 3

.  8= 1 × 8

72= 9 × 8

56= 7 × 8
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Z={�� ���O� ��( 3!� ������� a�O��� q>���
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� �̀ < `���� ���+ :;f����� ,45 = 9 × 5

?�f!F
�1 + 5 = 6 �2& ��� 3!� ������� 
 h<&

N (*K
 :��� ���=} ��� ��
L 9 × 4 �2& 2��������� �./�
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�3!� ������� N�+��� 3+ �
 C<�L

-?!L �����
 ��� 
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�9 × 6 zL�� :�w�(

�3!� ������� N�P��( ���]+ ��( *� ������

�d �- ��	
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�� �F �� �4M;
� �1 9 
 ,! �� �.�( �X �! Mp
� �̀  5 k9@�I �=�) �* 
jL  
 
] �! �� �.�( �Z
 M0�M �? �� �� �1 �� �[ �/ , Mp�� �̀  6B �[�	 �A���& �N
 �0�M���	
 �0 �!

  ? �� �X �+ �.�	
 �p
� �.�	
 �=�) �8�	
?  = 9 × 5  

45 =  9  +  9  +  9  +  9  +  9

45 36 27 18

$ �A�� �&� M0�M �? �� �� �1 45 k9@�I �O �� �.�( �Z�
 ,
 ,jL  45 = 9 × 5

$ �� �� ��	
 �9 �� �� �' �/ �� �� �4 
! �� �- 6� �[�( �+�	
 �= �+ �>�	
 �O
� �.�( �Z
 �%�P
[ �!n�&  ? 9 × 6 �� �>�4 �S�� �1 
?  =  9  +  9 + 9 + 9 + 9 + 9 = 9 × 69

×6
54

  9 × 1  +  9 × 5  =  
 54    =  9  +  45  =  

�y ��h?9 × 4 �06��7 �(�	 �� �Z ��	
 K	L �' �����4 o\�	
 
!  
 

$ �%�	j �m 6< �� ?9 × 6 ö ö  öÏ Å ó  9 × 3 �v�4
P �� �� �5
X�� �B ��  z� �] �� �� k��7 �� �4

� �Q �� ���	
 �/ �� �� ��	

Multiplying by 9

54 = 27 + 27 = 9 × 3 + 9 × 3 = 9 + 9 + 9 + 9 + 9 + 9 = 9 × 6
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